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NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

N&O 3.1 Demonstrates conceptual understanding of rational numbers with respect to: whole numbers
from 0 to 999 through equivalency, composition, decomposition, or place value using models,
explanations, or other representations; and positive fractional numbers (benchmark fractions:
al2, al3, a/4, al6, or a/8, where a is a whole number greater than 0 and less than or equal to the
denominator) as a part to whole relationship in area and set models where the number of parts in the

whole is equal to the denominator; and decimals (within a context of money) as a part of 100 using

models, explanations, or other representations.

@ Kenneth made a design and shaded
5
I3 of the design gray. Which design

could he have made?
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NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

N&O 3.1 Demonstrates conceptual understanding of rational numbers with respect to: whole numbers
from 0 to 999 through equivalency, composition, decomposition, or place value using models,
explanations, or other representations; and positive fractional numbers (benchmark fractions:
al2, al3, a/4, al6, or a/8, where a is a whole number greater than 0 and less than or equal to the
denominator) as a part to whole relationship in area and set models where the number of parts in the

whole is equal to the denominator; and decimals (within a context of money) as a part of 100 using

models, explanations, or other representations.

@ Which is another way to write 590?
A. 59 tens
B. 59 hundreds
C. 50 tens + 9 ones
D. 5 hundreds + 9 ones

N&O 3.2 Demonstrates understanding of the relative magnitude of numbers from 0 to 999 by ordering
whole numbers; by comparing whole numbers to benchmark whole numbers (100, 250, 500, or 750);
or by comparing whole numbers to each other; and comparing or identifying equivalent positive
fractional numbers (a/2, a/3, a/4 where a is a whole number greater than 0 and less than or equal to
the denominator) using models, number lines, or explanations.

€ Look at this number line.
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NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

N&O 3.3 Demonstrates conceptual understanding of mathematical operations by describing or illustrating
the inverse relationship between addition and subtraction of whole numbers; and the relationship
between repeated addition and multiplication using models, number lines, or explanations.

@ Look at this group of butterflies.

2L
2L
2L
2L

Holly wrote two different number
sentences that correctly represent this
group of butterflies. Which two number
sentences did she write?

A 3x4=|:|
3+4:|:|
3+4:|:|

B.
3+3+3+3=[ ]

C 3><4=|:|

' 3><3x3x3=|:|
3><4=|:|

D.
3+3+3+3=[ ]




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

N&O 3.4 Accurately solves problems involving addition and subtraction with and without regrouping; the
concept of multiplication; and addition or subtraction of decimals (in the context of money).

@© Jamic had 500 seeds in a bag. He
planted 132 seeds in his garden and
115 seeds in flowerpots. How many
seeds does Jamie have left in the bag?

A. 163
B. 247
C. 253
D. 347

N&O 3.4 Accurately solves problems involving addition and subtraction with and without regrouping; the
concept of multiplication; and addition or subtraction of decimals (in the context of money).

@ Some people from Quincy School
visited a firehouse. There were
9 teachers and 8 groups of students.
Each group had 4 students. How many
people from Quincy School visited the
firehouse?

A. 44
B. 41
C. 32
D. 21



NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

G&M 3.1 Uses properties or attributes of angles (number of angles) or sides (number of sides or length
of sides) or composition or decomposition of shapes to identify, describe, or distinguish among
triangles, squares, rectangles, rhombi, trapezoids, hexagons, or circles.

@ In which set are all the shapes
rhombuses?
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NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

F&A 3.1 Identifies and extends to specific cases a variety of patterns (linear and non-numeric) represented
in models, tables, or sequences by extending the pattern to the next one, two, or three elements, or
finding missing elements.

© Kelsey covered some numbers in this
pattern with shapes.

86, 74, 62, 50, Q A

What number did Kelsey cover with a

A\,

A. 12
B. 14
C. 26
D. 42

F&A 3.4 Demonstrates conceptual understanding of equality by showing equivalence between two
expressions using models or different representations of the expressions; or by finding the value
that will make an open sentence true (e.g., 2 + [J = 7). (limited to one operation and limited to use
addition, subtraction, or multiplication)

@© Look at these number sentences.
5+1+Q =10
- =@

Each ) has the same value. What is
the value of the Y ?

A2
B. 4
C.5
D.7



NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

DSP 3.1 Interprets a given representation (line plots, tally charts, tables, or bar graphs) to answer
questions related to the data, to analyze the data to formulate conclusions, or to make predictions.
(IMPORTANT: Analyzes data consistent with concepts and skills in M(DSP)—3-2.)

@ Each student in Mrs. Rey’s class built
a snowman. This line plot shows the
height of each student’s snowman.

X
X

X X
X X X

X X X
F X X X X X X X

X
X

30 31 32 33 34 35 36 37 38 39 40
Height (in inches)

Key
X represents 1 snowman

What is the difference in height between
the shortest snowmen and the tallest
snowmen?

A. 10 inches

B. 8 inches

C. 6 inches

D. 4 inches



NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

N&O 3.4 Accurately solves problems involving addition and subtraction with and without regrouping; the
concept of multiplication; and addition or subtraction of decimals (in the context of money).

@ A toy store sold 546 cars and 285 trucks. How many more cars than trucks did the
toy store sell?

Scoring Guide:

Score Description

1 for correct answer, 261

0 Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.

Blank | No response




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score Point 1
(ExampLE A)

@ A toy store sold 546 cars and 285 trucks. How many more cars than trucks did the
toy store sell?

The Yoy store sold bl Mmare
cars Paan Fracks.

The student’s response is correct.

Score Point 1
(ExampLE B)

@ A toy store sold 546 cars and 285 trucks. How many more cars than trucks did the
toy store sell?

The Jfoy afore sod 261 moe cars than
*-ruc\r\s.I know  ths because HH6-
2852 )6) To chedk ™ anwses’ T added
285 and 26\ up \cge\'\r\er and gt 5%.

This is how I Mnow the +he Yoy store
Sold 261 meore cars than Yrudes.

The student’s response is correct. (Showing work is not required.)




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score PoinT 0
(ExampLE A)

@ A toy store sold 546 cars and 285 trucks. How many more cars than trucks did the

toy store sell?
2
B
- 245

|

The student’s response is incorrect.

Score Point 0
(ExampLE B)

@ A toy store sold 546 cars and 285 trucks. How many more cars than trucks did the
toy store sell?

The student’s response is incorrect.

10




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

F&A 3.4 Demonstrates conceptual understanding of equality by showing equivalence between two
expressions using models or different representations of the expressions; or by finding the value

that will make an open sentence true (e.g., 2 + [ = 7). (limited to one operation and limited to use
addition, subtraction, or multiplication)

@ Look at this number sentence. Each square has the same value.

12 —

What is the value of each square?

Scoring Guide:

Score Description

1 for correct answer, 6

0 Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.

Blank | No response
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NECAP 2013 RELEASED ITEMS

GRADE 4 MATH

Score Point 1

@ Look at this number sentence. Each square has the same value.

12 —

What is the value of each square?

the volue i@

The student’s response is correct.

Score Point 0

@ Look at this number sentence. Each square has the same value.

12 —

O

What is the value of each square?

O of |~

[2]

The student’s response is incorrect.

12




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

DSP 3.3

Identifies or describes representations or elements of representations that best display a given set
of data or situation, consistent with the representations required in M(DSP)-3—1.

@® Kyle measured the lengths of eight paw prints he saw on a hike. He made this list

to show the length, in inches, of each paw print he measured.

1.
12|nches
2 inches
3linches
2
2 inches
1.
Elnch
1.,
Elnch

2 inches

1,
22 inches

Use the data from Kyle’s list to complete this line plot.

Paw Prints

.1 .1 . I1 .
1 15 2 25 3 35 4

o=+

Length in Inches

Key

X represents 1 paw print

Scoring Guide:

Score

Description

1

for a correct line plot

0

Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.

Blank

No response
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NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score Point 1

@® Kyle measured the lengths of eight paw prints he saw on a hike. He made this list
to show the length, in inches, of each paw print he measured.

1.
1 2 inches
2 inches

1.
3§|nches

2 inches

1.
2 inch

1.
2|nch

2 inches

1.
25 inches

Use the data from Kyle’s list to complete this line plot.

Paw Prints

X
R I S

Ll L] "

4 The student’s response is correct.

NI—*-.%K

1 1 1
1 17 2 25 3 3;

Length in Inches

Key

X represents 1 paw print

14




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score PoinT 0
(ExampLE A)

@® Kyle measured the lengths of eight paw prints he saw on a hike. He made this list
to show the length, in inches, of each paw print he measured.

1.
1 2 inches
2 inches

1.
35 inches

2 inches

1.
2 inch

1.
> inch

2 inches

1.
25 inches

Use the data from Kyle’s list to complete this line plot.

Paw Prints

X x X

1 1% > 2% 3 3 The student’s response is incorrect.
Length in Inches

Key

X represents 1 paw print

15




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score PoinT 0
(ExampLE B)

@® Kyle measured the lengths of eight paw prints he saw on a hike. He made this list
to show the length, in inches, of each paw print he measured.

1.
1§|nches
2 inches
1.
3§|nches
2 inches
inch
inch
inches

1.
22|nches

Use the data from Kyle’s list to complete this line plot.

Paw Prints

0121010

i
L]

NN

1 1% 5 2% 3 3% 4 The student’s response is incorrect.

Length in Inches

Key

X represents 1 paw print

16




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

N&O 3.1 Demonstrates conceptual understanding of rational numbers with respect to: whole numbers

from 0 to 999 through equivalency, composition, decomposition, or place value using models,
explanations, or other representations; and positive fractional numbers (benchmark fractions:
al2, al3, a/4, al6, or a/8, where a is a whole number greater than 0 and less than or equal to the
denominator) as a part to whole relationship in area and set models where the number of parts in the

whole is equal to the denominator; and decimals (within a context of money) as a part of 100 using

models, explanations, or other representations.

@ Blair and Carmen each made a pie. Each of these pies is cut into equal pieces.

Blair's Carmen’s
pie pie

Blair ate 2 pieces of her pie.

a. Write a fraction to show the part of the pie Blair ate.

Carmen ate 2 pieces of her pie. Blair said, “Carmen and I ate the same amount
of pie.”

b. Explain why Blair’s statement is or is not correct.

Scoring Guide:

Score Description

for correct answer in part a, % or equivalent, and correct explanation in part b for why
statement is incorrect

for correct answer in part a only
OR

for correct explanation in part b only

Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.

Blank [No response
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NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score Point 2
(ExampLE A)

@ Blair and Carmen each made a pie. Each of these pies is cut into equal pieces.

Blair's Carmen’s
pie pie

Blair ate 2 pieces of her pie.

a. Write a fraction to show the part of the pie Blair ate.

/

— Part a: The student’s response is correct.

3

Carmen ate 2 pieces of her pie. Blair said, “Carmen and I ate the same amount
of pie.”

b. Explain wh Blair’s state‘;ent is or is not correct.

BWS 51 emmf s nof gg[fzgt
b@mwj@ the PKSS are bth Caf \nto
€@1’r|ne bt Bliars pie ﬁsm

Jat meang her pieces ré smller,

— e

Part b: The student’s explanation is correct.

18




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score Point 2
(ExampLE B)

@ Blair and Carmen each made a pie. Each of these pies is cut into equal pieces.

Blair's Carmen’s
pie pie
Blair ate 2 pieces of her pie.

a. Write a fraction to show the part of the pie Blair ate.

,J—-— Part a: The student’s response is correct.

Carmen ate 2 pieces of her pie. Blair said, “Carmen and I ate the same amount
of pie.”

b. Explain why Blair’s statement is or is not correct.

g\i(\ \S no} cor‘/tc}l\’\%" P'\t

S 5w “@l" 50 E}mf‘ Aa./ fess
PlEa

Part b: The student’s explanation is correct.

19




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score Point 1
(ExampLE A)

@ Blair and Carmen each made a pie. Each of these pies is cut into equal pieces.

Blair's Carmen’s
pie pie

Blair ate 2 pieces of her pie.

a. Write a fraction to show the part of the pie Blair ate.

Blaw ode L onk of Q peaces of her Pl\e_-

Part a: The student’s response is incorrect.

Carmen ate 2 pieces of her pie. Blair said, “Carmen and I ate the same amount
of pie.”

b. Explam why Blair’s statement is or is not correct.

I‘"’ 5 hoJ( *Y\AC bfcaw\SQ. CCM wiéms' Fac ‘g

})‘me -

Part b: The student’s explanation is correct.

20




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score Point 1
(ExampLE B)

@ Blair and Carmen each made a pie. Each of these pies is cut into equal pieces.

pie

Blair ate 2 pieces of her pie.

a. Write a fraction to show the part of the pie Blair ate.

' Z Part a: The student’s response is correct.
—

B

Carmen ate 2 pieces of her pie. Blair said, “Carmen and I ate the same amount
of pie.”

b. Explain why Blair’s statement is or is not correct.

Vaie's Dhovewuy S Coecer)
oecave Vg > &
ch\)&\ PRED. |

Part b: The student’s explanation is incorrect.

21




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score Point 0

@ Blair and Carmen each made a pie. Each of these pies is cut into equal pieces.

Blair's Carmen’s
pie pie

Blair ate 2 pieces of her pie.

a. Write a fraction to show the part of the pie Blair ate.

o

._%- Part a: The student’s response is incorrect.

Carmen ate 2 pieces of her pie. Blair said, “Carmen and I ate the same amount
of pie.”

b. Explain why Blair’s statement is or is not correct.

I+ 'S Corvect Decanse

H\ﬁy both Ade '}WO P{ﬁc€5
of their pie.

Part b: The student’s explanation is incorrect.

22




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

G&M 3.6 Demonstrates conceptual understanding of perimeter of polygons, and the area of rectangles
on grids using a variety of models or manipulatives. Expresses all measures using appropriate units.

@® Riley shaded squares gray on this grid to make a shape.

i|:1 cm

1cm

a. What is the perimeter, in centimeters, of the shape Riley made?

centimeters

Riley wants to change her shape so that the new shape has a perimeter of
16 centimeters.

b. On the grid above, use your pencil to add shaded squares to Riley’s shape so that
the new shape has a perimeter of 16 centimeters. Be sure to shade the squares.

Scoring Guide:

Score Description
2 for correct answer in part a, 10, and correct shape in part b
for correct answer in part a only
1 OR
for correct shape in part b only
0 Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.
Blank [ No response

23



NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score Point 2
(ExampLE A)

@ Riley shaded squares gray on this grid to make a shape.

Part b: The student’s response is correct.

]:1 cm

—
1cm

a. What is the perimeter, in centimeters, of the shape Riley made?

‘ O centimeters

Part a: The student’s response is correct.

Riley wants to change her shape so that the new shape has a perimeter of
16 centimeters.

b. On the grid above, use your pencil to add shaded squares to Riley’s shape so that
the new shape has a perimeter of 16 centimeters. Be sure to shade the squares.

24




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score Point 2
(ExamprLE B)

@ Riley shaded squares gray on this grid to make a shape.

Part b: The student’s response is correct.
]:1 cm

a. What is the perimeter, in centimeters, of the shape Riley made?

—
1cm

\ C) . Part a: The student’s response is correct.
centimeters

Riley wants to change her shape so that the new shape has a perimeter of
16 centimeters.

b. On the grid above, use your pencil to add shaded squares to Riley’s shape so that
the new shape has a perimeter of 16 centimeters. Be sure to shade the squares.

25




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score Point 1
(ExampLE A)

@® Riley shaded squares gray on this grid to make a shape.

Part b: The student’s response is correct.

]:1 cm

—
1cm

a. What is the perimeter, in centimeters, of the shape Riley made?

? centimeters Part a: The student’s response is incorrect.

Riley wants to change her shape so that the new shape has a perimeter of
16 centimeters.

b. On the grid above, use your pencil to add shaded squares to Riley’s shape so that
the new shape has a perimeter of 16 centimeters. Be sure to shade the squares.

26




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score Point 1
(ExamprLE B)

@® Riley shaded squares gray on this grid to make a shape.

Part b: The student’s response is incorrect.

]:1 cm

a. What is the perimeter, in centimeters, of the shape Riley made?

/0

—
1cm

centimeters Part a: The student’s response is correct.

Riley wants to change her shape so that the new shape has a perimeter of
16 centimeters.

b. On the grid above, use your pencil to add shaded squares to Riley’s shape so that
the new shape has a perimeter of 16 centimeters. Be sure to shade the squares.

27




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score Point 0

@ Riley shaded squares gray on this grid to make a shape.

Part b: The student’s response is incorrect.

]:1 cm

a. What is the perimeter, in centimeters, of the shape Riley made?

—
1cm

\ 4, . Part a: The student’s response is incorrect.
centimeters

Riley wants to change her shape so that the new shape has a perimeter of
16 centimeters.

b. On the grid above, use your pencil to add shaded squares to Riley’s shape so that
the new shape has a perimeter of 16 centimeters. Be sure to shade the squares.

28




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

DSP 3.2  Analyzes patterns, trends, or distributions in data in a variety of contexts by determining or
using most frequent (mode), least frequent, largest, or smallest.

@ Mr. Larson is making this chart to show the number of students in each fourth-grade
class at Wilson School.

Fourth-Grade Classes

Class ofNSliTg:r:ts

Mr. Hanson 20

Ms. Polk 21

Mrs. Watson 21

Ms. Yazzie 18

Mrs. Lopez

Mr. Blake

Mrs. Ryan

* There is a total of 137 students in the fourth grade.
* The most common number of students in a class is 20.

Complete the chart to show how many students could be in Mrs. Lopez’s class,
Mr. Blake’s class, and Mrs. Ryan’s class. Show your work or explain how you know.

Scoring Guide:

Score Description

for correct answer, 17, 20, 20, with sufficient explanation given or work shown to indicate

2 correct strategy

for correct answer, with insufficient or no explanation given or work shown
1 OR
for appropriate strategy, with incorrect or missing work

Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.

Blank [ No response

29



NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score Point 2
(ExampLE A)

@ Mr. Larson is making this chart to show the number of students in each fourth-grade
class at Wilson School.

Fourth-Grade Classes

Class ofNSl:rlrdb:r:ts

Mr. Hanson 20

Ms. Polk 21

Mrs. Watson 21

Ms. Yazzie 18

Mrs. Lopez a\g

wae | DN
Mrs. Ryan l 7

* There is a total of 137 students in the fourth grade.
* The most common number of students in a class is 20.

Complete the chart to show how many students could be in Mrs. Lopez’s class,
Mr. Blake’s class, and Mrs. Ryan’s class. Show your work or explain how you know.

Aot () *16=60
20 g0 Wi

}__3..:- "‘YHO ,/‘5"
v\O _—
\ TG A
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NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score Point 2
(ExampLE B)

@ Mr. Larson is making this chart to show the number of students in each fourth-grade
class at Wilson School.

Fourth-Grade Classes

Class ostliwdb:;ts

Mr. Hanson 20

Ms. Polk 21

Mrs. Watson 21

Ms. Yazzie 18

Mrs. Lopez %O

¢ The student’s response is correct, with

Mr. Blake PA O sufficient explanation given.

Mrs. Ryan l 7

» There is a total of 137 students in the fourth grade.
* The most common number of students in a class is 20.

Complete the chart to show how many students could be in Mrs. Lopez’s class,
Mr. Blake’s class, and Mrs. Ryan’s class. Show your work or explain how you know.

:5 od de S wp a0, 2l d [Ianaffg

hg;‘{‘;‘é";‘”ﬁ 0. T Swbtrg , 4

7 e cgond that equajeq’ 55 SO

Ho -, ;f?‘ A XA + ‘Iy;u‘
17 >0 in M, 7(?;')5{’ - S'—-L Sasfl’&c?‘eé

Loput |7 S Rvars S9mc our .
! o -f,gc
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NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score Point 1
(ExampLE A)

@ Mr. Larson is making this chart to show the number of students in each fourth-grade
class at Wilson School.

Fourth-Grade Classes

Class ofNSL;Tdb:r:ts
Mr. Hanson 20
Ms. Polk 21
Mrs. Watson 21
Ms. Yazzie 18
Mrs. Lopez Z_O
Mr. Blake 1 7
Mrs. Ryan 2 _O

The student’s response is correct, with no
explanation or work shown.

* There is a total of 137 students in the fourth grade.

 The most common number of students in a class is 20.

Complete the chart to show how many students could be in Mrs. Lopez’s class,
Mr. Blake’s class, and Mrs. Ryan’s class. Show your work or explain how you know.

32




NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score Point 1
(ExampLE B)

@ Mr. Larson is making this chart to show the number of students in each fourth-grade
class at Wilson School.

Fourth-Grade Classes

Class ostliwdb:;ts
Mr. Hanson 20
Ms. Polk 21
Mrs. Watson 21
Ms. Yazzie 18

Mrs. Lopez 10

Mr. Blake 10
The student’s response is incorrect. The

Mrs. Ryan Z 7 student’s work is appropriate, but contains

a computation error.

» There is a total of 137 students in the fourth grade.
* The most common number of students in a class is 20.

Complete the chart to show how many students could be in Mrs. Lopez’s class,
Mr. Blake’s class, and Mrs. Ryan’s class. Show your work or explain how you know.

2040\ =3
3409 1104271 3
52316~ 10
70+L" -0

qO,Q@f-UO
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NECAP 2013 RELEASED ITEMS
GRADE 4 MATH

Score Point 0

@ Mr. Larson is making this chart to show the number of students in each fourth-grade
class at Wilson School.

Fourth-Grade Classes

Class | of Stucents

Mr. Hanson 20

Ms. Polk 21

Mrs. Watson 21

Ms. Yazzie 18

Mrs. Lopez l 0

The student’s response is incorrect, with

Mr. Blake ’ % insufficient explanation given.

Mrs. Ryan ,q

» There is a total of 137 students in the fourth grade.
 The most common number of students in a class 1s 20.

Complete the chart to show how many students could be in Mrs. Lopez’s class,
Mr. Blake’s class, and Mrs. Ryan’s class. Show your work or explain how you know.

St

901219 204000015413
CO” cocu rjaff'/r_)

e f{ My Cocu Lator

34




IOMSUY HOYS = VS 9010y S[dnnin = DN :9dAL way,

Aiqeqoid 2 ‘sonsnels ‘ered = dd
“21qa3[V 2 SUONOUN] = V4 JUSWAINSLIA 29 ANOWOIN) = ]ND ‘suonerad( 2 soquinN = ON - :PUBnS JUSIU0)),

T ¢t |t |1 I I I I I I I I I I I I SJUI0J 9[qISSOd [E}OL
4 |a|4g |a|4g|D>|d|4g9 |V |d Aoy] Tomsuy

VS |VS |VS | VS | VS | VS |ON |OA |[OIN [DIN |OIN [DIN |DN |OIN | DN | DN PdAT, W
€ €|z |c T |1 ¢ |l | |cT T |t |T|c¢ I C opo)) a3pajmouyy jo ydoq
T€ [9°€ | 1€ | €€ | ¥€ [¥€ | 1€ | ¥€ | I-€ | 1€ |[+€ | p€ | €€ |T€ | I€ |I¢€ 9pod 41D
dd |WD |ON |dd |Vd |ON |dd | Vd | Vd |[IWD |[ON [ON |[ON |ON [ON |ON |PUBIIS 1UANUOD)
N s N N N PaMO[]Y S]00], ON

9T | ST | %I | €1 |cr |11 o1 |6 |8 | L |9 |S |v | € |¢C I TqUNN W] Pased[ay

€107 — UOIJBULIOJU] WA} PISLI[AY SINBUWIYIBIAl  dpeID)




